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= 2 aa)l K < RgrERT | 10H17TH| 2 . 14.0 3 | 85 5 |Eoem <30 200 230
s SE T 2 | 21.7]0.73| 17.0 BRIk <30
BT R 1] AN ALARHT wa238| 1 | 248055 17.5 5| 84.7 W <30 1 i
MREXE ) EEH - B 10H23A[ | 27.2 [ 3 - 5[ 81.8 [ 15 18
7 aw - BT | 10A8H| W 21' o .85 17.8 5| 83.0 |W <30 12 20
0] 1.25] 16.8 5| 810 | <30 100 50
<30 44 47
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O (EHRQ) RDRECIIIEB E=2I I HRE—E

K F fiE
BRI S THE BB
BB | XKfE | KR iﬁz%ﬁ%%’:ﬁgrﬁq/kg& (§7) | 22 R ﬁ&z%ﬁ%%ﬁ%g@m/kg(%) 25 R 55
I C PR | = o 5% ST ZAVIN wSv/h | MR [rotes v TP T A wSv/h
KA s LRk 1-131 | Cs—134 | cs-137 1-131 | Cs—134 | ¢s-137
& BEG fili& 10H20R| = 10.7 :g <30 200 260] 0.10 mﬁg <30 25 31| 0.08 [3%2
T Relatzpll {Ejtﬁﬂ% & i 10H208] W | 19.2 %’féf <30 860 1,000 0.14 :’%f <30 200 3001 0.14 [|3%2
i & H KA (F=liE 10 18H| Hep | 18.4 %’féf <30 120 140 0.14 :E’I <30 150 170]  0.14 [¥%2
I A il 10H19A] 2 | 15.8 | 55T <30 300 380( 0.12 | HeH <30 140 180]  0.11 %2
X iingesplll jEEEﬁﬁé & 105208 | @& 20.4 | #Y <30 210 280 0.18 | W' <30 250 300 0.12 [3%2
£ & B A (=Nl 10H18A| W | 17.0 | #E <30 220 280 0.18 | HHE <30 310 360 0.18 [3%2
CALHJI FIDG fili&H 101141 5 21.0 | 888 <30 220 260 0.11 | &% <30 310 4101 0.10
e SR jﬁ»}ll% i 10H 188 | Thms | 14.8 %’fg <30 43 60| 0.06 :’;’I <30 59 63| 0.06
a8 | ﬁ@ﬁ@ ‘ =N 10H198| W | 10.8 %L%f <30 66 82| o0.06 | BE <30 72 00| 0.06
) Ka ) Tl |l 1018 H | RHF | 11.6 | B <30 49 72| 0.07 [ — - - - -
x JISHE) ﬁﬁg %Ei igg égg ‘I%i% ig'g - 0 0 B i 7<3o - 90 - .
AL pAY Kt E) H . — — — — — Yy 1 300 0.12
% = & i 101200 i 18.2 | #H <30 230 270  0.12 | #H <30 410 480  0.12
4 25011 ?ﬁ”é%ﬂﬁ% & 107181 e | 17.2 — — — — — :’.fg <30 280 310  0.06
| 4, ﬁ%%ﬁ% 7 & i 10 18H| i | 17.0 :’féf <30 130 160 0.06 :*.fa <30 200 240]  0.08
| m K GEED Wb <AERE )11 T 10H198| W | 16.0 ;’féf <30 83 9 o0.07 | BE <30 150 200 0.07
k[ [N AE)1TAf JUligg iy 10A19A| BF | 15.4 | s <30 os| 130 o.08| - - - - .
= | ok B )| BlAG =) 10H18H| W | 15.8 %L%f <30 530 600 0.06 | HH <30 110 130 0.04
[ £ 51| L PN i - | 10H278 | 16.9 i <30 560 800 0.15 | BH <30 320 4101 0.17 |3%1
F LB Eveer & h 10H268| W | 16.9 | B& <30 170 2201 0.21 | BB <30 450 520  0.20 [¥%1
4, 811 B KA flier « 4B | 105200 i 18.4 | kWE <30 400 5100 0.12 | B'H <30 260 300 0.12
SRR £ B 10H278| W 16.9 | g <30l 1,600 2,000] o0.25 | HEE <30 260 3201 0.21 |31
HAFI /NS 4 B 10H268| W | 15.0 | B& <30 410 5201 0.21 | =H <30 200 280]  0.25 |¥%1
R ki 4 B 10H8H]| i | 15.1 | B <30 320 370  0.09 | HEEL <30 400 460  0.08
JITPNIR)N NG £ B 1078 I 20.4 | BE <30 180 220 0.07 | B <30 540 630] 0.09
T Y H K B 4 B 10A7TH]| B | 21.5 | B <30 510 570  0.07 | &¥E <30 480 610 0.07
R LG %{75?@ 10H8H]| W | 19.8 :g <30 510 670  0.09 :E <30 750 920 0.07
- %/ BB EET 10H7R]| B | 19.2 | & <30 580 700 0.07 | =E <30 300 390  0.09
2t =R IERS NETR AN @ | A7 T 10240 15.9 | BE <30 1, 600 2,100 0.51 | &% <30 530 700 0.52 |31
i A= )0 TLEEE = 10H25H| 2 | 16.8 | BH® <30 160 180 0.38 | ®H <30 340 4701 0.37 |1
iy [0 R (2PN Jisk R 10H24A] W | 16.2 | 58T <30 250 310( 0.31 | HH <30 430 490 0.27 [3%2
K| R PR FE A RFEET - ST | 10H17H| & | 21.7 | HE <30 860[ 1,000( 0.15 | H&H <30[ 1,200 1,600 0.15
= s =Sl &4 LE T 10H238| W | 24.8 %Tg <30 450 560 0.30 | =E <30 400 520  0.34 [%2
Sl SHARNG ij»'%BT B 10230 w | 27.2 %/éf <30 680 820 0.66 | E <30 260 340 0.42 [3%2
WIEIEAH ) |evBTT - e #RmT | 10A8H| W | 21.0 | BH <30] 1,700] 2,200 0.23 | mEE <30 740 930 0.17
c ERREE, BT R AT 0 WA ESHRO Y — A A —FTCS-172F 72 1XTCS-161% FWTHIE, 7272 L., ST k1%2 A L7m sz >\ CiX, Ludlum Measurement IncHlod4—~oA 2 — ZMODEL3

. ¥2&AF L2 oUW CTidHealth Physics Instruments. #:8L0>5000% % Iy 72, MODEL3 M (850007 CEHHI S U7 fl1E, TCS-172F 721X TCS-16 LI EE N THETEA KR & < 72 A (W b RIL. 66FFEE) ,

- BRI, AR AL SEI, RIS & O & B2 & T itik,




O - KiEH (BHWE) KEE=FIVIRE-E&

BREUH A KR [k — A HURPEEIRE  Ba/L
Kb M 4 BIH | RfE| C m KR | BRKTE | BUHEE [axuzd| S S | WWEE |we=vk| BURPEE T D A ik
T m m mS/m mg/L JE 1-131 Cs-134 | Cs-137
7 2N A 10858 m§ | 11.3] 13.3 | 15.2 0.5 0.7 12.1 10 15 <1 <1 <1
K Im — — | = | 19| 23] - 13. 1 42| 58 <1 <1 <1
Tl LY A 1086H| W | 15.0 ] 22.1 | 15.4 0.5 2.1 8.2 2] 2.6 <1 <1 <1
At K Im - - — — | 1.4 211 | — 9.4 30] 40 <1 <1 <1
Jﬁ G wBHna 10878 w5 | 17.8 ] 1.6 | 18.0 0.5 0.5 | 14.3 20 25 <1 <1 <1
x \7kr§1m — — — 17.9 0.6 — 13.7 20 21 <1 <1 <1
A R e HH O 10A7H]| W 14.2 0.9 15.9 0.0 [0.9LLE[l 15.5 2| 2.4 1 <1 <1
EOR-HH [ a 10A11H] W | 15.2| 0.5 | 17.6 0.0 10.584 | 10.5 13 10 <1 <1 <1
BT HLHA | 107260 W 9.7 | 46.6 | 13.8 0.5 2.0 14.5 4] 5.4 <1 <1 <1
KJEE Im — — — — 7.0 | 45.6 — 16.7 14 16 <1 <1 <1
SYVRL N 108198 | Hemy | 13.6 | 0.65 | 14.8 0.0 |o.6521 k] 6.7 3.2 <1 <1 <1
R ZBYA b 1ATE| w5 | 16.4 ] 29.7 | 12.6 0.5 2.0 5.9 4.3 <1 <1 <1
K : K Im — — — — 8.8 | 28.7 — 7.2 10 16 <1 <1 <1
111 4 s LA+ | 10A13A W [ 17.0| 26.0| 17.8 0.5 3.0 7.5 2] 1.5 <1 <1 <1
\M:Elm — — - - 8.2 | 25.0 — 11.1 150] 100 <1 <1 <1
B R A A LA | 10A20A W [ 16.2| 2.5 | 15.8 0.0 2.1 8.1 3] 4.0 <1 <1 <1
Tk DB & 2 10H19H| W | 12.6 | 7.7 | 16.0 0.5 0.5 | 13.6 16 21 <1 <1 <1
JKEE Im — — | - — | 15s| 67| — 13.8 9] <1 3! a
LALE)IAKR | EIEE & 2 ALY A~ | 104208 = [ 14.0| 0.3 14.4 0.0 |0.30LE|l 7.0 2l 3.8 <1 <1 <1
LR 7= it iy 10H20H| m§ | 16.2 | 0.4 16.4 0.0 [0.421 F| 26.3 13 15 <1 <1 <1
KA wen 10828H] m§ | 11.3| 1.0 13.0 0.0 0.9 | 22.7 4] 4.6 <1 <1 <1
4, B ¥ LA | 104198 W [ 13.2 | 25.0 | 14.9 0.5 2.7 7.3 2] 2.6 <1 <1 <1
int \7J<ﬂ:§1m — — - — 9.0 | 24.0 — 7.7 17 20 <1 <1 <1
JI S LA | 10A21A 2 [ 17.4| 25.5| 15.3 0.5 1.7 10.1 4 4.0 <1 <1 <1
7£ i K Im — — — — 14.8 | 24.5 — 11.0 13 15 <1 <1 <1
B K& 2 a4+ | 10H27H| | 11.2 | 0.5 ] 15.8 0.0 2.0 8.9 3l 4.0 <1 <1 <1
g AT A 2 10H18H| W | 17.2 ] 0.7 | 15.6 0.0 0.8 7.8 9 11 <1 <1 <1
i JIET-# A YA B 10868 2 | 20.8] 05| 15.2 0.0 .8 | 11.9 2l 1.9 <1 <1 <1
;’i g ZutA k| 10H6H| & |[16.2 [ 30.5 | 17.3 .5 2.4 6.9 o 3.8 <1 <1 <1
% K — - | - — | 101 ] 205 — 6.9 2| 5.8 <1 <1 <1
E4E wHn 108248 ® | 18.0| 0.7 16.8 0.0 0.5 | 10.9 86 85 <1 1 2
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Ofi-KiFt (EHE) EE-BIDREGHM) T2V ITHE-E

JEE JEDBRE (HRE)
BREUH A | . . +
wmn | x| am ek AR PUNTEEIRE  Ba/ke (R0R TR o/ | s s
K, Hi s 4, C m VeI BRI Rz Mk (s ox| BaSMERS T| dRR [ ox| BdEES T A | wSv/h
C cm % I-131 | ¢s-134 | cs-137 I-131 | Cs-134 | cs-137
P N ZaYA4 K 10A5A B [ 11.3 ] 13.3 | 14.9 3| 39.5 [~k <30 470 630 B <30 370 470 0.21
e & 2uYA4 K 10H6A| M | 15.0 | 22.1 8.8 15| 32.3 [v vk <30 210 230 #Z <30 910 1,100 0.21
T E AR PER AHHA 10878 w5 | 17.8 ] 1.6 | 18.1 5| 31.8 [@iEs Lk <30 390 510 BE <30 380 410f 0.08
£ B O 10A7A| m | 14.2] 0.9 16.8 10 | 20.5 [> vk <30 500 680 #'Z <30 120 160| 0.07
8 OR =i | O 10A11A] W | 15.2 .5 17.8 5 72.1 |w <30 210 230 BE <30 350 460 0. 11
-4 HAhHA N 10A26H] B 9.7 | 46.6 7.2 10 | 31.6 [> b <30 240 250 & <30 130 160l 0.21 |3%1
TYHRE A 1051908 | temg | 13.6 [ 0.65 | 14.6 10 | 44.1 |vv MER <30 1,000 1,300 BE <30 140 150|  0.04
s 1k % BRI A L a4 K 1LATA| W | 16.4 ] 29.7 .8 10 | 31.8 [v vk <30 300 400| EZ <30 160 200 0.13 %2
EILEA a4 N 108138 W | 17.0 | 26.0 .8 10| 20.2 |2 b <30l 1,200 1,400 HEE <30 380 450 0.09
TR A A 2 uYA K 10H208] W [ 16.2 ]| 2.5 | 17.6 10 | 69.9 [@-+nrmm <30 14 17| & <30 60 75| 0.07
WARINAR (OB A 1081908 s | 1226 | 7.7 | 15.0 10| 15.1 |2 b <30 260 450| BE <30 180 230 0.14 |32
LAbm)IAKR|EILHZ A | #2814 M 10H20H]| & 14.0 ]| 0.3 14.8 10 | 30.8 |2 /v MREW <30 160 240| WHE <30 36 78]  0.07
SR 7= it A 104200 # | 16.2 | 0.4 16.2 5| 68.0 MRS <30 480 620 B <30 560 710 0.14 |3¥%2
KA WH O 10828H| m§ | 11.3| 1.0 14.0 10 | 87.3 |#&igwp <30 1,000 1,200 E'Z <30 310 390 0.19 |31
KB A A AhHA N 108198 W | 13.2 | 25.0 7.8 10| 35.4 [> v b <30 190 250 B <30 110 110] 0.05
ZENKFE |EEL L 2 uYA K 10H21A| & | 17.4 | 25.5 | 14.8 15 | 32.6 [> b <30 39 46| HEE <30 74 92| 0.08
HEIK A I ZuYA K 103270 W | 11.2 5| 15.7 10 | 65.6 |WbiRm <30 85 100| HEE <30 620 780 0.21 |3%1
FEH 2 2 10H18F| HE | 17.2 .7 | 15.6 5| 56.6 [mEE L K <30 160 210| =g <30 810 940 o0.07
FIEBEI AR R T2 5 | #a04 M 10H6R] 2 | 20.8 5| 14.8 3| 67.7 @R b <30 320 410| BE <30 150 150] 0.10
trmEA L | XA N 10A6A] 2 [ 16.2 ] 30.5 | 12.0 10| 34.1 [v b <30 960 1,200| HEE <30 1,100 1,500 0.20
BER HiHA 1024 ™ | 18.0 0.7 16.3 10 | 63.6 |@-wrenr <30 810l 1,000 BE <30 730 910 0.71 |3%1

CERMEIE, BT e AT ¢ VRSO — S A= FTCS-1T2F 721X TCS-161% AWV THRIE, 72720, MBI 1 &2 L7z iz 2V CiE, Ludlum Measurement Inc#o 4 —~o
A —ZMODEL3% . 2% fF L7-Hu 512>V TldHealth Physics Instruments. #-845000% % FV 7=, MODEL3 &% TN5000 T & 72 fl1E. TCS-172F 72 1EXTCS-16 LR THETER KX 1 B
A (OB 6ERRE) ,
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Ol E-KitGE(BERED) KEE=SIVIHRE—E

R U A SIR | kiR — B IE H HGH Y EIREE Ba/L

e W BREH | R C m KR BRI BEWE | 4 | SS | WE (st vx| BRI DA 5
C m m mg/L i 1-131 | Cs-134 | Cs-137
Z Do MR JA B RKR) 10A3H| & 14.6 | 35.9 | 19.3 0.5 | 13.5 32.9 <Al 0.1 A1 1 A1
K 1m — — — — 18.3 | 34.9 — 33.5 | o.8 Aa <1 Aa
SALEE () e IR 10H38| W 12.8 1 16.7| 19.6 0.5 | 4.8 32.5 1l 0.7 el el el
KJEE 1m — — — — 19.4 | 15.7 — 33.3 <] 0.3 A <1 A
SALEE (A) K-3 (HmA) 10A3H| & 13.2 | 29.4 | 19.3 0.5 9.0 33.1 1l 0.7 el el el
KJE 1m — — — — 19.3 | 28.4 — 33.3 <Al 0.7 Aa <1 Aa
SALEE (A) KEIbih 10H3H| £ 13.2 | 37.4 | 19.2 0.5 8.7 32.4 1l 0.7 A el A
K 1m — — — — 19.0 | 36.4 — 33.4 i 12 Aa 3! Aa
Z Ot DS R /N O 10H3H| =2 14.3 ] 10.2 | 19.0 0.5 7.7 33.2 <] 0.3 Aa 3! Aa
K 1m — — — — 18.8 9.2 — 33.2 | o.5 Aa 3! Aa
SALEE (R) K-2 (Z2ofR) 10A3H| £ 14.6 9.2 | 19.0 0.5 5.4 32.6 <l 0.5 el el el
K 1m — — — — 18.8 8.2 — 32.9 <] 0.8 Aa < Aa
FEATRT 1 10H3A| £ 17.2 | 10.6 | 19.4 0.5] 7.9 32.9 11 1.0 <1 <1 <1
K 1m — — — — 19.6 9.6 — 33.3 Al 1.1 Aa < Aa
Z Ot DA PR Al 10H5H| =2 16.0 6.4 | 18.9 0.5] 3.9 33. 1 | 1.5 Aa 3! Aa
K 1m — — — — 18.8 5.4 — 33. 1 2 2.0 Aa 3! Aa
Z O oM GBS (=) 10H5H| =2 17.5 | 18.0 | 19.7 0.5 8.3 31.2 1] 1.3 el el el
K 1m — — — — 19.7 | 17.0 — 33.4 1 1.4 Aa <1 Aa
A YR Lot 3 i it 10H5H| =2 19.8 | 35.4 | 19.2 0.5| 7.1 33.0 <] 0.5 Aa 3! Aa
Je= K 1m — — — — 18.8 | 34.4 — 33.5 I 2.1 Aa <1 Aa
2N (F) £ TR 10H5H| =2 18.7 6.5 | 19.6 0.5] 2.8 32.5 2 1.6 Aa <1 Aa
KJEE 1m — — — — 19.1 5.5 — 33. 1 2 2.6 Aa <1 Aa
I'BIFREGD i )| T s N 10A5A| = 18.4 | 11.0| 19.9 0.5 | 5.2 32.6 <] 0.6 Aa <1 Aa
KJEE 1m — — — — 19.7 | 10.0 — 33.2 I 1.4 A <1 Aa
Z Db oM PK e A 10H5H| =2 18.2 | 15.5 | 19.8 0.5] 3.8 30. 4 Al 1.6 Aa 3! Aa
K 1m — — — — 19.8 | 14.5 — 33.2 11 12 Aa <1 Aa
LB () TARHM-6 (5H) 10H5A| 2 17.8 4.0 ] 19.0 0.5 | 3.2 31.4 1 1.4 <1 <1 <1
K 1m — — — — 18.6 3.0 — 31.8 5 .6 Aa < Aa
g (N) Ry (N-4) 10H6H| =2 16.8 8.5 | 18.6 0.5 ] 3.3 28.3 3] 3.2 Aa 3! Aa
K 1m — — — — 19.6 7.5 — 32. 1 30 24 Aa 3! Aa
FEMeE (2-3)  db_) 1 a3 10H6H| =2 16.9 7.5 | 17.4 0.5] 0.8 25.0 17 13 Aa 3! Aa
K 1m — — — — 19.9 6.5 — 32.6 8l 4.9 Aa 3! Aa
M (F-1) T3EHEAD 10H6H| =2 16.7 | 15.0 | 18.5 0.5] 1.8 27.7 4 4.0 Aa 3! Aa
K 1m — — — — 19.9 | 14.0 — 33.2 15 15 Aa <1 Aa
MR () T3EMEM (K-3) 10A6H| £ 17.2 | 15.0 ] 18.8 0.5 | 4.0 29.0 2l 1.9 <1 <1 <1
K 1m — — — — 20.0 | 14.0 — 32.9 1 1.8 Aa < Aa
FE S (P9) MR 10H6H| =2 17.0 | 15.2 | 18.9 0.5] 2.9 28.3 3] 2.8 Aa 3! Aa
KJEE Im — — — — 19.7 | 14.2 — 32.7 9 10 Aa 9! Aa

- BRI, A D P IC ek,




O KittE (EHEQ)

KEEZRIVIHRER-E

R A SR | ki — R IE H TG EE IR Ba/L

K H BREH | K C m A A s | s | ss | wE [sewaox| BEEET T L e
C m m mg/L Jii3 1-131 Cs-134 | Cs—137
B (H) g B IR 3R 10H6H| %= 18.0 2.9 18.2 0.5 1.3 28. 4 11 12 <1 a1 <1
K 1m — — — — 18.3 1.9 — 30. 4 24 25 <1 <1 <1
W () TRy 10H6H]| & 18.6 2.6 | 18.3 0.5 ] 1.2 28.9 11 13 <1 <1 <1
K 1m — — — — 18.4 1.6 — 29.6 14 16 <1 <1 <1
B (H) B 10H6H| = 18.2 4.2 | 18.4 0.5 2.0 30. 7 3] 4.2 <1 A <1
K 1m — — — — 18.4 3.2 — 30.9 6| 7.7 <1 <1 <1
WEE (2) e 10H6H| %= 18.3 | 14.3 | 19.2 0.5 1.6 31.5 3| 4.7 <1 A <1
K 1m — — — — 19.2 | 13.3 — 31.9 40 38 <1 <1 <1
B () ks 10H6H]| & 19.1 6.5 | 19.4 0.5 ] 3.0 27.5 5] 6.3 <1 <1 <1
K 1m — — — — 19.9 5.5 — 31.7 4l 6.7 <1 <1 <1
W (G stses (o) HEEIR- 1 10H6H| £ 18.4 | 12.5 | 20.1 0.5 | 2.5 32.4 4 4.4 <1 <1 <1
J== K 1m — — — — 20.2 | 11.5 — 32.6 9] 9.5 <1 <1 <1
rE s (7)) NEk-4 )N 10A6A| £ 18.0 | 19.0 | 19.6 0.5 1.3 25.6 9 13 <1 <1 <1
K 1m — — — — 20.3 | 18.0 — 33.1 5] 7.5 <1 <1 <1
MBS (2) JE-3 10A7H| & 18.9 | 17.5 | 19.8 0.5 ] 2.7 31.4 2l 3.1 <1 <1 <1
K 1m — — — — 20.0 | 16.5 — 33.2 80 91 <1 <1 <1
Z oo -5 10H7H| & 19.0 5.5 | 19.5 0.5 ] 2.2 26.2 5] 4.0 <1 <1 <1
K 1m — — — — 20.0 4.5 — 32.5 71 3.7 <1 <1 <1
“oaMEEE (1) —O/H- 1 10H7H]| & 18.8 | 13.9 | 19.9 0.5 ] 3.0 32.0 4] 2.5 <1 <1 <1
K 1m — — — — 20.0 | 12.9 — 33.2 6| 7.1 <1 <1 <1
B B 1 [30] 1 g 10A7HA| & 18.5 | 10.0 | 19.6 0.5 ] 0.5 26. 1 18 12 <1 <1 <1
7K JEE 1m — — — — 20. 2 9.0 — 32.9 4] 3.0 <1 <1 <1
KA 10A6A| W™ 16.2 0.6 | 18.4 0.0 — — 15 17 <1 <1 <1
I JINGR 10H68| 17. 1 0.5 | 18.2 0.0 — — 94| 100 <1 3! <1
R FHHE 10H6H| W 16.8 0.5 | 18.4 0.0 — — 12 11 <1 3! <1
Hik 10A11A| 2 19.0 1.0 | 18.8 0.0 — — 6| 4.7 <1 <1 <1
17/2 FEE -3 B R 10A12H] P | 19.4 1.0 | 19.4 0.0 — — 9 9.4 <1 3! <1
1 L& B3 H 10H14H| # 20. 8 0.6 | 20.0 0.0 — — 36| 2.4 <1 <1 <1
g = s A H H 104118 2 17.2 1.0 | 18.8 0.0 — — 6] 4.1 <1 <1 <1
YRR 10A20R] W5 18.6 0.3 ] 19.6 0.0 — — 4l 3.1 <1 <1 <1
& Fal 10H6A| s 18.2 0.3 20.3 0.0 — — 150 9.3 <1 3! <1
Fde (EEEAT) 10A6H| = 18.9 0.4 | 19.7 0.0 — — 17 16 <1 <1 <1

- BRERH RO, A B SRR




OnF-Kinis(EHR) EE-BIRE(GR)EZFIVIHE-E

—_ JEE J%i?z:%iﬁ (¥)
ZS SN U g y JBTY iy R
WIE | K| am ek AR PUHHTEMTIRIE  Ba/ke (RLVE T BB B ke | zehl i
A4 HiL C m el [EReE &=l ik [soavx] BEER T DL | ik Do ox] BEEEET DA | (uswn)
C cm % 1-131 | Cs—134 | cs-137 1-131 | Cs—134 | cs-137
Z Db oMY JA B CKR) 10H3H]| ® | 14.6 | 35.9 | 18.2 5 [62.6 @R L+ <30 <10 o] — — — — —
SALEE () e IR 103 W | 12.8 16.7 | 19.8 3 173.6 |2 FiRRE <30 <10 7| — — — — —
SALEE (F) K-3 (HmA) 10H3H| m | 13.2 ] 29.4 | 18.6 5139.6 [> 1 <30 <10 o] — — — — —
SALEE (F) N B R 10H3H| = | 13.2 | 37.4 | 18.8 5 |45.5 MR L B <30 <10 o] — — — — —
F Ot A SR | /)N FH DR 10H3H| 2 | 14.3] 10.2 ] 18.6 3 |81.2 |HRM <30 <10 <o — — — — —
SALEE (R) K-2 (Z-ofR) 10H3H]| 2 | 14.6 | 9.2] 18.7 3 165.1 [RbiES L+ <30 20 29 — — — — —
HEAS AT 3 10H3H]| 2 | 17.2 ] 10.6 | 18.4 3182.2 W <30 <10 <o — — — — —
Z D fth o> A M ek il 10A5H| £ | 16.0 6.4 | 19.0 5 50.8 [m-wEen r <30 100 1ol — — — — —
Z Ofh DS B ETE (=) 10A5H| & | 17.5] 18.0 ] 19.3 5 [52.3 [~k <30 170 180 — — — — —
Z D D 21 G HEEh | IV M G 10H5H] 2 | 19.8 | 35.4 | 18.3 10 [58.0 [vv riERY <30 <10 o] — — — — —
LN () £ TR 10H5H] 2 | 18.7| 6.5 18.3 10 [48.9 [M&R> 1 <30 120 140 — — — — —
BE)1E () i )| T s N 10H5H] 2 | 18.4 | 11.0 | 19.2 5 168.2 [m-on rmmw <30 37 38 — — — — —
Z DD 23 e HER | FK T G 10H5H] 2 | 18.2 ] 15.5 | 19.3 15 [40.7 [> v <30 <10 <o — — — — —
M () samM-6 5y | 1058 2 | 17.8 | 4.0 18.9 5 141.9 [BES L R <30 <21 Q1 - — — — —
W [a s (R) | R (N-4) 10H6H| & | 16.8 8.5 | 19.2 5 |75.1 | <30 <10 0] — — — — —
B st (z-3) | Ab_EJ13 b 10H6H]| 2 | 16.9 | 7.5 19.6 5 72.8 |wW <30 42 63 — — — — —
M (F-1) T3EWHAD 10H6H]| 2 | 16.7 ] 15.0 | 20.0 5140.6 > b <30 84 100 — — — — —
M () T (K-3) 10H6H]| 2 | 17.2 ] 15.0 | 19.7 5 147.7 [BiE> L b <30 <10 el — — — — —
FEH S (P9) MR 10H6H]| 2 | 17.0 ] 15.2 | 19.8 5 |55.1 |2 MER <30 65 00| — — — — —
MEE (H) e o IR 3R 10H6H| & | 18.0 2.9 | 18.8 15 |36.1 [Wig> v b <30 <14 29 — — — — —
B () By 10A6A| & | 18.6 | 2.6 | 18.8 15 [36.2 [#iR> 1k <30 <11 <15 — — — — —
MEE (H) e 10H6H| & | 18.2 | 4.2] 19.6 15 |41.7 [~ b <30 <10 12l — — — — —
MEE (2) [lizpl=S 10H6H| 2 | 18.3 | 14.3 ] 19.5 10 [29.0 [ v b <30 55 84 — — — — —
WEE (F) WG 10H6H]| B | 19.1 6.5 | 19.7 15 |40.4 (Wi b <30 <10 at|l - — — — —
B sEEE (2) | EBIG- 1 10H6H| = | 18.4 | 12.5 ] 20.0 10 |43.5 [WiE> v b <30 47 371 — — — — —
rE SR (1) NHEE-4 N 10H6H]| 2 | 18.0 ] 19.0 | 19.8 5 143.6 [m-wron <30 130 40| — — — — —
iBasiseg () | W4E-3 10H7H]| s | 18.9 | 17.5 | 19.2 5 166.4 |2 NER <30 23 21 — — — — —
Z Ofh o -5 10H7H] ® | 19.0 | 5.5 19.3 3179.8 |W <30 27 44 — — — — —
ok (F) O/ H-1 107 W | 18.8 ] 13.9 ] 19.3 3 |77.8 | <30 27 a1 — — — — —
BT 2 PR 1 7R] 1 3 1047 W | 18.5 | 10.0 | 20.0 3 |75.8 | <30 160 230 — — — — —
PN 10H6H] & | 16.2] 0.6 ] 17.9 10 [84.9 [w <30 <10 0| wE <30 <10 <10]  0.04
= e N 10H6H] W | 17.1 0.5 ] 18.0 10 [82.9 (W <30 <10 0| wE <30 <10 <10]  0.06
EaE 10H6H]| & | 16.8 ] 0.5] 18.0 10 [82.4 |w <30 <10 0| wE <30 <10 <10]  0.04
" Hix 10H11H] 2 | 19.0 .o | 19.0 10 | 87.0 |H4REW <30 <10 10| wE <30 <10 <10]  0.05
N BT B4 10H12H] PHE ] 19.4 | 1.0 | 19.6 10 |77.9 |w <30 <10 12| weg <30 15 30  0.05
15 IE=S2 B 104148 2 | 20.8] 0.6 ] 19.8 10 |79.5 (% <30 11 26| WE <30 26 29] 0.06
A = e A A 1011l 2 | 17.2 1.0 | 18.8 10 [90.6 (@b <30 <10 ao| wg <30 <10 <10f 0.06
%A 10H20H0] M | 18.6 | 0.3 ] 19.6 10 [82.6 | <30 12 13| W <30 27 331 0.06
T=yes A 10H6H| s | 18.2 0.3 | 20.2 5 [83.2 | <30 <10 <ol wE <30 38 42 0.04
yRit (ELPRET) 10H6H]| = | 18.9 | 0.4 ] 19.8 5 182.3 | <30 <10 23| WE <30 20 38|  0.03
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